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Part A

I. Answer any 10 questions of the following [10 x 3 =30]

1. Given the demand and supply functions D =10 - 5P and S = - 20 + 10P find the
equilibrium values

2. Find the Elasticity of Supply, when supply function is given as X = 2P? +5 at P=1.

3. The TC, total cost function for producing a commaodity ‘X’ quantity is
TC =60 -12X + 12 X?, find the AC function, and the least AC value, also find the level
of output at which function is minimum.

4. Find the MU, marginal Utility of Y (only Y) at X =2 and Y = 3 for the total Utility

Function U = 2X*Y+3XY? +3X +3Y

5. Find out Z—f and Z—I(i for the production function Q = 24KL -10L? - 8K?

6. If MR is Rs.50 and elasticity of demand is 5, find the AR of the commodity
7. Find MR ,if P is Rs. 6 and Elasticity 2
8. Find p If AR, the Price of the commodity is Rs. 20 and MR is Rs 10.
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10.

11.
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14.
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16.

17.

If U=x>+y’+z* - 3 xyz, prove that x. Z—g + y.‘;—g +z. Z_lz] =3U

If the Marginal Revenue function MR = 100 - 4Q, find the total revenue function.
Compute TC, the Total Cost for the MC, the Marginal cost C =2 + 6X — 4X2, if Total
Fixed Cost = 50

Find P4 and P,, the values of price by solving the following equations using the

Cramer’s Rule

2P1 + 3P2 =13
2P, + 7P, =23
PART -B
Il. Answer any 3 questions of the following [3 x 5=15]

3 3
Compute the Marginal Output of X and Y for the total Output function U = i it

2_y2

Compute the marginal productivities of Labour and Capital at L= 2 and K = 3 for the

production function U = 2L2K + 3LK® +6L + 9K

Find the AC, the average Cost and MC, the Marginal cost for the total cost function

C=8Q+3Q*-6Q +3

Compute TC, The total Cost, AC - the Average Cost, AVC - the average variable cost

for the MC, the marginal cost function C =4 + 7X — 5X?, if the total Fixed cost = 40

For the Demand function P = 30 — 2Q and the Supply function is P = 3Q. Find the

Consumers Surplus.
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PART - C

lll. Answer any 1 question of the following [1x15=15]

18. Given the following Revenue (R) and Cost (C) functions for a firm in the perfect
competition Market R = 20Q — Q% and C = Q? + 8Q + 2, find the level of output (q),
price, total revenue, total cost and profit (1)

19. Consider a Monopolist who faces a Linear Demand function P = 100-2Q and a Linear
Total cost function C = 50 + 2Q. Determine the optimum level of Output, Price, Total

Revenue, total cost, and profit, .
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